James Barber’s Model

Barber developed a 2 X 2 typology to describe the presidential character. The two criteria are whether a president was active or passive and whether he viewed his job in positive or negative terms. The first baseline in defining presidential types is activity-passivity. How much energy does the man invest in his presidency? The second baseline is positive-negative affect toward one’s activity; how he feels about what he does. Relatively speaking, does he seem to experience his political life as happy or sad, enjoyable or discouraging, positive or negative in its main effect? Three hundred historians rated the characters of the following presidents on a ten point interval scale, (a) Taft, (b) F. Roosevelt, (c) Kennedy, (d) Nixon, (e) Reagan, and (f) Bush I.     

Questions

1) What is the Kruskal’s Stress value? 

2) What is the R2 value? 

3) Interpret Dimension I 

4) Interpret Dimension 2

5) Write a results section.

Answers

1) What is the Kruskal’s Stress value? .01315      

2) What is the R2 value? .99937

3) Interpret Dimension I Passive/Active

4) Interpret Dimension 2 Negative/Positive

